Quiz 3 – answers
1. a = (v-u)/t = 2.5ms-2
2. a = F/m = 160/200= 0.8ms-2
3. 450N - 350N = 100N;
100 – 21 = 79N.


(sorry folks frictional force is 21N not 210N)
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      a)  W = FxS = 125 x 120 = 15000J.  
b)  Ep = mgh = 25 x 9.8 x 120 = 29400J. 

c)  P = W/t = (15000 + 29400)/45 = 986.7W
4. 8 x 6.5 = 52 moles of Oxygen.
5. 65.4 + 32.1 + 64 = 161.5g.
6. n(Pb(NO3)2) = m/M = 3.6/331.2  
   = 0.011
       n(N) = 2 x 0.11 = 0.22mloes.

7. n(K2SO4) = m/M = 5.4/174.3
          = 0.031 moles.


n(K) = 2 x 0.031 = 0.062 moles.

     m(K) = n x M = 0.062 x 39.1 = 2.42g.
8. a) Each ion is considered a formula unit. Therefore LiOH has three ions: Li+, O-2 and H+.  You have one mole (6.02 x 1023) of each formula units.  That means you have 3 moles.
      b) 4 moles of H2O means 8 moles of hydrogen and 4 moles of oxygen = 12 
          moles.
      c) n(Ag) = m/M = 285/107.9



        = 2.64 moles.
     d) n(He) = 8/4 = 2 moles.
The answer for question 9 is b. 
9. 2,8
10. m(CuCO3) = n x M = 3.6 x 123.5
=  444.6g
11.    6HNO3     +    2Cr  


2Cr(NO3)3     +     3H2 
12.  Mg    +    H2SO4    


MgSO4     +     H2 
i) already balanced.
ii) n(Mg) = m/M = 53/24.3

     = 2.18 moles.
      n(H) = n(Mg) = 2.18 moles
      v(H) = n x 22.4 = 2.18 x 22.4 = 48.9L

Don’t worry about Q14
If you could find any mistakes in my calculations you get a fredo (
Enjoy your day and please come and see me before the exam.  Good luck.
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